O P o PPNV O®mIOo TN WN =

W W W W W w W NN DNDNDNDNDNDNDNDDNDDN
o U1 WDN =2 OOV 300 MW DN = O

U-17

EEH
)=V
Al X
M 08k
H L EAER
1R
PE B
B 1A
hnfgE 22
R H%
KPR A
Bl BEX
= BEE
N
=2iE KR
ARk EH
AEAZ
=F X
Al &%
I #E
BT EX
7K BT
FhE $REE
VA &KX
A #8fg
T FohE
HE XK
AR T8
K Foe
Itk FO0Bk
A BX
ek B
=H R
IRTF ?wE
I BRI
FH LA
REF D

(fEat]

D)—X5914)L 80 kgl
i@ 118 2[o]#g; 3o VAE] R SRA%
15|15
ER Fall 0:44
EEE (6-0) HE 11-2
U] S Fall 1:59 (1-0,10-2)
‘ﬂjm 1L~%L‘%_§4_82 |
RERIE _ Fall 3:24
FRITH¥ T Fall 3:34 (2-0,3-0)
IR (4-1,8-0)
BT
EER T 5
AR A e 3-3 (0-1,5-2)
=F8 (2-3,6-0) ¥l O-
fam (0-5,0-4)
HRE
I KH Fall 1:40
NS (12-0)
&R
RHE
INGETEE Fall 1:13
)8 (4-0) HIE 3-
{EISEE (3-0.0-0)
FEE ¥|,:|:_ |-5
BT Fall 1:45 (1-2,0-3)
FEE (2-6)
TEmkfER 6-55
=R
B3l T Fall 0:41
) (0-10)__JFall 3:41
EIZ!SW%?&?P(?EW (6-0,5-0)
¥
R Fall 0:44
RIFE (2-0) ' 2-
BEFE (2-2,0-6)
FRTE HE 2-11
_ BHE (0-1,2-10)
BHEM HE 2-7
BHR (0-2,2-5) [T Fall 3:00
25 T Fall 0:33 (6-0,4-0)
& _(0-10)
FHERRE
SHE Fall 3:58
NFERNE EZi3 (1-0,3-0)
Erdndls
regE
RIRE T Fall 0:38
By E2E HIE 2-8 (0-10)
LR (0-4,2-4)|T Fall 2:33
GIETIE (7-0,4-0)
Z=)1| 8
{EISEE Fall 1:24
EER (0-6)
¥zl
BHIE
= ENE T Fall 1:24
Al (0-11D E /-
EE (3-0,4-0)
HER T Fall 1:16
ER Fall 0:39 (0-10)
MHE (0-2)
E7NEafEES
DE _
BASEEXRFE T Fall 0:21
RERAT (10-0) [TFall 1:36
TRENEFER (0-10)
() 6-49
SHARER T Fall 2:00
RIFE (12-2) |TFall 0:48
BRI (0-10)
[ LLE




